RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4425-26.dwg, TX-4426

8811 West Market Street
Colfax, N.C. 27235

PRODUTCTS,

C.

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2006
Internationatl Residential Code {IRC). Sections R301 & R613 and the 2006

international Building Code {IBC), Sections 1405.12, 1609, 1714.5, 2403 ond 2404
(including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas reguiring wind-borne debris protection this product is
required to be protected with an impact resistant covering thai compiies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requiremenis must be equai to or less than the
design pressure rating shown in the design pressure chart, sheet | of this

drawing.
4. Conditions not covered by this drawing are subject o further engineering
analysis.
TABLE OF CONTENTS
SHEET# DESCRIPTION
1 Typical eievations, design pressures & general notes
2 Door pcnel details (flush glozing}
3 Door ponel details {lip lite insert glazing)
4 Horizontal cross sections
5 Verfical cross sections
) Frame anchoring

37.5" MAX. OVERALL

FRAME WIDTH

97.94" MAX. O.A. FRAME HEIGHT {INSWING}

97.125" MAX. O.A, FRAME HEIGHT [QUTSWING)

///

/

©)

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Vairico FL. 33585

BUILDING CONSULTANTS, INC.

Phone No.:

Documents Prepared By:

CERTIFICATE OF REGISTRATION § F—11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

LIP LITE INSERT

INSWING

NO| DATE

REVISIONS

oate: 1/07/14

SCALE: N.T.S.

DWG. BY: JK

X LIP LITE INSERT | OUTSWING +40.0 -40.0
X FLUSH GLAZED INSWING +40.0 -40.0
X FLUSH GLAZED | OUTSWING +40.0 -40.0

CHK. BY: LFS

DRAWING NO.:

TX—44286

SHEET 1 oF 6

@ 20714 R.W. BUILDING CONSULTANTS INC.



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4425-26.dwg, 2.8

STILE CAP
{PVC])

wOOD STLE

26.25" MAX
D.L.O. WIDTH

35.75" MAX.
PANEL WIDTH

0.78"

/4

95.25" MAX. DOOR
PANEL HEIGHT

78.0" MAX
D.L.O. HEIGHT

>

PLASTPRO
Flushgiazed
{Fiberglass)

INTERIOR G 12" -
=\
EXTERIOR
STEEL REINFORCEMENT
0.094" THICK

71"\ HORIZONTAL CROSS SECTION

\2/

1/2° GLASS
BITE

INTERIOR

/"

GLAZING DETAIL
Flush Glazing

Gl

———  5/8"NOMINAL GLASS THK,

1/8° TEMPERED GLASS
AIR SPACE

1/8" TEMPERED GLASS

SILICONE GLAZING
EXTERIOR COMPOUND

TOP RAIL S
{PVC) _\ i
FOAM CORE
{PO?.YURETHA@
INTERIOR EXTERIOR

0.090" FIBERGLASS \

SKIN
I
/4
# *
Vel N
e ] 75—

m VERTICAL CROSS SECTION

\2/

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33585
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

BUILDING CONSULTANTS, INC,

Phone No.:

CERTIFICATE OF REGISTRATION # F—-11852

ENDURA
PART OR ASSEMBLY:

PROBUCT:

DOOR PANEL DETAILS
(FLUSH GLAZING)

NC. DATE

REVISIONS

oate: 1/07/14

scale:  NLT.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—4426

SHEET 7 ofF B

© 2014 R.W. BUILDING CONSULTANTS ING.



RAA - Projects\Project Foiders\Proj 1601 - 1700\PF 1675\D, RWBC Drawings\TX-4425-26.dwg, 3.8

—— WOT'
04" == |l
EN INTERIOR
—iF N L O % l!l
T = 3 E
w T - = R
n PR a =
Lﬁ \n" ‘n - |'T % 4 rﬂc ;
EXTERIOR
CAP (PVC)
HINGE STILE (LVL)
m HORIZONTAL CROSS SECTION
\3/
35.75" MAX.
PANEL WIDTH
21" MAX

D.LO. WIDTH E
3

95.25" MAX. DOOR
FANEL HEIGHT
79" MAX

D.L.O. HEIGHT
4
P

PLASTPRO
insert Glazed
{fiberglass)

- 3.6"
0.4 —w =
—= U LIT At
i f
'; I ril \ ¢

#6 X 1-1/2" PH SMS

INTERIOR

i

b/

EXTERIOR
LOW TACK SEALANT

LATCH STILE (LVL}

GLASS BITE 1/2

1/8" TEMPERED GLA,
/—/ GLASS

% AIR SPACE

v~ 1/8" TEMPERED GLASS

STEEL SPACER
Q'S0 SEALANT

GLAIING DETAIL
Lip Lite Insert Glozing

N

CAP (PVC)

1/2" NOMINAL GLASS THK,

FIBERGLASS SKIN TR
(0.0?S"MIN.THK.}\ e

TOP RAIL

r {COMP.}

I .2n

INTERIOR 3\
» EXTERIOR

1.2

BOTIOM RAIL
{COMP.)

m VERTICAL CROSS SECTION
3

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Vailrico FL. 33585
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By
WF’hona Mo.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

DOOR_PANEL DETAILS
{LIP LITE INSERT GLAZING)

BY

NO.| DATE

REVISIONS

DATE: 1/07/14

scae: NUT.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—4426

SHEET _3 oF _6

© zO014 R.W. BUILDING CONSULTANTS (NG,



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\0. RWBC Drawings\TX-4425-26.dwg, 4.8

| DEADBOLT: KWIKSET SIGNATURE SERIES
l—- - <. (980/985)

I ——LATCH: KWIKSET SIGNATURE SERIES
(991)

©)

CORNER PADS (TYP.]

174" MAX. . "

0.15 0.15 1/4° MAX.
EXT SHEATHINGSHIM A = K ERNENLN CONK SN A T, SHEATHING
' (TYP.) \S5/~ S ASL/ (TYP) Y

2X FRAMING
/ (G >= 0.42)

~—— #10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW —

—— JAMB JAMB
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIE

2X FRAMING
(QEBD/PE 650) (QEBD/PE 650}

(G »=0.42) —\
EXTERIOR EXTERIOR
S 4\\

DRYWALL/ INTERIOR INTERIOR M N\ permad

#8 X 2-1/2° PFH WS

#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS
#8 X 3/4" PFH SM3 4" HINGE LATCH STRIKE PLATE

m HORIZONTAL CROSS SECTION
W Inswing shown - Qutswing also approved

Lyndon F. Schridt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33585
Phone No.: B13.658.9187
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documenta Prepared By:

%3]
.5
22
< =5
v . ZL,_]
o QL
S 2 Em
Ly 3 o0
4 8
- ( U
= 14
§ e}
5} &
1 <
[s 8 [\
>.._
m
W
=z
Q
wn
-
(]
oc
bl
'__
<
a3
o
z
oate: 1,/07/14
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4426

SHEET 4 ofF 6

© 20714 R.W. BUlLDING CONSULTANTS INC.



- ] e 2X FRAMING W
i < (o $,
y ’t L ) &= bl % % E
| ;' L a u % ] gvi-
EXT. SHEATHING Ay 58 DRYWALL v E gy &
" SFOELR 28
¢l |1 . ) -]
_ © ol #ox25 prH g>o WE
’ -1 WOOD SCREW . §8° g2
1/4" MAX. (I -1 s gxf EE
SHIM SPACE 1] ¢ Fde O
\ in % = %‘ g o] E g:’
EE LA
£
DOOR PANEL U |t P X %E
h $ §
HEAD
ENDURA WEATHERSTRIP %
(QEBD/PE 650) =
&
EXTERIOR W INTERIOR 5 ”
2 1538
z 1335
/"1 VERTICAL CROSS SECTION al ©
W QOutswing shown - inswing 9 3
also approved = el B
g 8 E
S 'cz
[ <L
o o
¥/ /i
INTERIOR e paNL EXTERIOR EXTERIOR < INTERIOR EXTERIOR INTERIOR x
ENDURA WEATHERSTRIP k
|QEBD/PE 650} DOOR PANEL DOOR PANEL

ENDURA THRESHOLD ENDURA DOOR(SDV[;IEERF; _\ ENDURA DO(?S ;;N;Ef; \

%ERS'E;%TS;WNG) ENDURA THRESHOLD %\ ENDURA THRESHOLD | %
542854565(;;\10%] (Z-SERIES INSWING ADJUSTABLE] (Z-SERIES INSWING ARTICULATING) N AN . 5
q 8 . TAI4565FN (shown) ZACA565FEN {shown) ’//,gl 4

{w/ decorative nosing) > : 5 LAI565FEN {w/o decorative nosing) = IAC4565FN (w/ decorative nosing) ﬁf‘ﬂ)‘ % ol
é /] sl 57/ / ' Vl.r; 7

#10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOOD SCREW e 1,07/14
. . 1/4" X 2-3/4' ELCO OR 1/4° X 2-3/4" ELCO OR soAE. NT.S

1/4" X 2-3/4" ELCO OR T.8.

TW CONCRETE SCREW ITW CONCRETE SCREW W CONCRETE SCREW Ik

CHg, gr: LFS

@VERTICAL CROSS SECTION (3> VERTICAL CROSS SECTION /& \ VERTICAL CROSS SECTION "

5 / Qutswing shown 5§ /Inswing configuration 5 /inswing configuration -
U U SHEET 5 ofF _6

R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4425-26.dwg, 5.8

© 2014 R.W. BUNLDING CONSULTANTS ING,



R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\FX-4425-26.dwg, 6.8

TOP OF

5.22' FROM
DOOR PANEL

D

g1.72"

———|

3072 ——

56.22"

] / SEE HINGE
DETAIL 1

SEE HINGE
DETAIL 2

HINGE JAMB

CONCRETE ANCHOR NQOTES:

2X framing {by others)

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE (MIN. 3000 PSI}

WOOD (G >= 0.42)

1. Concrete ancher locations at the cormers may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, addifional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ANCHOR | MIN. | MIN. CIEARANCE | MIN, CIEARANCE

si7E | EMBEDMENT. | TO MAS .TO ADJACENT -

i | Pt S U UANCHOR
'rw " n
ELCO n fr n T
ULTRACON®| V/4 1-3/4 1 3

| i 6"
“] (TYP.)
]
#10 X 2.5" PFH
WOODSCREW || . =~ -
(TYP. @ HEAD = s =z
AND JAMBS) & &
o o
- : 20
~ O
< 0
Ly [T
O
- —1 SEE STRIKE / 41 =
B DETAIL w0
> [+ 8
<=
=
]
k‘
#10X 25" PFH WOOD SCREW STRIKE JAMB “
FRAME ANCHORING 174" X 2-3/4"ELCO OR EE— W
X ITW CONCRETE SCREW ANSI DEADBOLT
{TYP @ SILL) STRIKE PLATE
#10X 3 PFH WS {4) — |
[]
48X 2-1/2" PFH WS (2)
\Q LATCH STRIKE
PLATE
STRIKE DETAIL
1V T L #ex2-1/2 PRH WS .
7 | #8X2:1/2' PFHWS
jo 1| .
A ]
#8X 1"PFH WS <fe [ ; ) - L
al - #:8)(53/4 PFH WS #8 X 1" PFH wsé_-_. Al St 58 x 374 PEH W
T 4'X 4" HINGE -— 4" X 4" HINGE
1\ N
HINGE DETAIL 1 HINGE DETAIL 2

Lyndon F. Schmidt, F.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33585

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Decuments Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

BY

NO| DATE

REVISIONS

oate: 1/07/14

scale: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—4426

SHEET 6 oF 6

© 2014 R.W. BUILDING CONSULTANTS INC.



